HITACHI

2S5C4529

Silicon NPN Epitaxial
VHF Wide Band Amplifier

Absolute Maximum Ratings (Ta= 25°C) TO-126 MOD
Item Symbol Rating Unit
Collector to base voltage Vego 30 \Y,
Collector to emitter voltage Vcgo 20 \Y,
Emitter to base voltage Vego 3 \Y,
Collector current Ic 300 mA
Collector peak current ic(peaky 900  mMA t2 3 1. Emitter
2. Collector
Collector power dissipation  P¢ 1 W 3. Base
Pl 5
Junction temperature Tj 150 °C
Storage temperature Tstg -55t0 °C
+150
Note: 1. Value at T¢ = 25°C.
Electrical Characteristics (Ta= 25°C)
Item Symbol Min Typ Max Unit Test condition
Collector to base breakdown voltage Ver)ceo 30 — — \Y Ic=100 pA, I =0
Collector to emitter breakdown voltage  V(gr)ceo 20 — — \Y lc=1mA Rgg=o
Collector cutoff current IcBo — — 10 pPA V=25V, Ig=0
Emitter cutoff Current leBO — — 10 MA Veg =3V, Ic=0
DC current transfer ratio hee 50 — 200 Vcg =5V, Ic =50 mA
Collector to emitter saturation voltage Veg@say — — 10 V Ic =100 mA, Iz = 10 mA
Gain bandwidth product fr 15 22 — GHz V=5V, Ic=50mA

Collector output capacitance Cob — 47 — pF Veg =10V, [g=0,f=1MHz
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Collector to emitter saturation voltage

Collector output capacitance Cob (pF)
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